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Two students were asked to evaluate: (—8) — 2(24 + (—8))?
Here are their calculations.

(-§) - 204+ (8
o=
=-lOA+C8)

Why did both these students get incorrect answers?
What is the correct answer?
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Excample#3: Word Probloms :
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10. A can of soup is a cylinder with radius
3.5 cm and height 11.5 cm.

35cm

11.5cm

Use the formula:

Surface area = 2nr* + 2mr X height,

where r is the radius of the can

a) Determine the area of tin needed to make
the can, to the nearest square centimetre.

b) Explain how you used the order of
operations in part a.
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= Qv (39) + 2 (3.5)(II5)
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